





Daily 3 most Important classes

5 am -> 10 min current affairs

sh/}w

. ]&m -> The Hindu Analysis

. g;Xg am -> Daily SSC CGL/ CHSL
pecific GK class
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Which Country is Hosting the 10th it T o7 10dT (3TTHAT) I&T
(ASEAN) Defence Ministers’ Meeting- ~ HT3IT I d3h-Cld hl HoTdTadl

T @7 g7

a) Indonesia =~ T) ST
b) India d) AR

c) Singapore aT) ﬁ?TI'fIDT
d) Malaysia ) HellAAT

@of the day



What is the primary composition of

saturn’s Rings?
A) Ice @?ticles
B) Rocky debaris

C) Metallic compounds

D) Acidic compounds
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TS ATURN

Saturn is surrounded
by 82 moons.

-~
~§

~< Saturn is a
gas giant.

One day on Saturn
lasts 11 hours.

.- Saturn is the sixth
planet from the Sun
and the second largest
planet in the solar
system.

N. Saturn consists
of a rocky core
surrounded by
hydrogen and : .

helium. ¢




Saturn

The second largest planet
in the Solar System, Saturn
is famous because of the
amazing rings that orbit
the planet. The planet is
mainly made up of gas and
has been visited by the
Voyager probes in the
early 1980s and more
recently by the Cassini
probe. Orbiting Saturn are
at least 60 known moons
including a moon called
Titan which has an

. . atmosphere that may have
Diameter: 120,540 km been like Earth's during its

Distance from Sun: 1,427,000,000 km formation.
Number of Moons: 60

Time To Turn on Axis: 10 hours, 39 minutes

Time To Orbit Sun: 29.5 years

Surface Gravity: 1.16

Atmosphere: Hydrogen, Helium

Average Surface Temperature: -180 degrees Celcius




What is the function of the

electrolyte in an elect electric cell?

A) Converts chemical ene

electrical energy

touching

3#

r%tc{/ e

B) Prevents the electrodes from ‘\

C) Connects the two metal

electrodes

Jﬂt”
N/

D) Allows the flow of electric charge

between the ele

exfod

es
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ELECTROLYTIC CELL PARTS

power source
cathode(-) anode (+)
reduction oxidation

\ )

- electrolyte
solution
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D) Allows the flow of electric charge
between the electrodes.

The electrolyte in an electric cell is a

liquid or gel that contains ions,
facilitating the flow of electric charge
between the electrodes.
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What is the efficiency of the smog
tower at Connaught Place, New
Delhi, in cIeanlng air?

A) 10%
B) 30%
C) 50%
D) 70%
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1,000 CUBIC METRES OF FRESH AIR PER SECOND

Height of
canopy:
6 metres

T

Total
height:

Height of 24 metres
tower from

ground:

POLLUTEDAIRIN

FILTERS:
5,000, in

2 layers inside
the tower
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C) 50%. The smog tower at Connaught
Place, New Delhi, has been found to
clean air with 50% efficiency, but this
efficiency drops to 30% at a distance of
50 meters from the filters and just
above 10% when 500 meters away.
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When was the Worldwide JesdiSs Idaid 3fshed (WGH)

Governance Indicators (WGI) first ggell dlim fopar arar
developed? qT?

A) 1995 T) 1995 w

B) 1999 ST} 1999 )( XM//

C) 2003 ” gr) 2003

D) 2005 @B‘/ 3I) 2005 B

&) [“



dT) 1999.

B) 1999, desdiss Ideid Sfsdhed
The Worldwide Governance Indicators (SG("QJI“IB-TIé') qﬁ T 1999 Tﬁl'
(WGI) were first developed in 1999 by oq ‘\aEF» ¥ ar o -

two World Bank researchers.
Aarfad T v o




What does a country's IMF quota
broadly reflect?

A) Its military strength
B) Its cultural influence

C) Its relative position in world
economy

D) Its geographical size
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C) Its relative position in the world
economy.

An individual member country’s quota
in the IMF broadly reflects its relative
position in the world economy.
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What is the primary aim of the Mitra
Shakti joint military exercise?

e

A) To enhance trade relations

o
B) To promote t logical g /
exchanges

C) To rehearse conduct of Sub
Conventionalgp/érations under UN

Charter

D) To foster cultural

un. erstanding
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C) To rehearse conduct of Sub ?ﬁ) {-i?—IQCI'CI IS¢ e o AT
Conventional operations under VIl & dgd 39 YRIRe TdTeld]
Chapter VIl of the United Nations o HdTolel ol CE:I‘[%—W h{ciT|
Charter.




Where is the headquarters of the faea OR[ &A1Y {-i_i_l_c;o-l

World Organization for Animal (WOAH) =hi HEdTeld chsT g7
Health (WOAH)? 1) S, ﬁch\cﬁs
A) Geneva, Switzerland %ﬁ—\q spag
B) Paris, France o.qq,qq JuaT
C) New York, USA
) :%‘r) oo, Iah

D) London, UK



B) Paris, France. WOAH, an dl) uRd, | WOAH, STdaxl

intergovernmental organization & TIELT H FIYTIT & [T 1A
working to improve the health of el Il Teh aawmfr
animals, is headquartered in Paris, TS %" ISEE HETeld

France. aRE, I A g




What is the Second Thomas Shoal?

A) A submerged reef in the South
China Sea %

B) An island in the Indian Ocean
C) A river delta in Southeast Asia

D) A mountain range in East Asia
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T) &feor AT IR & T

A) A submerged reef in the South olelHJol dcclel| qEIT ATHH
China Sea. The Second Thomas Shoal is Mol Th Tadifead & %‘ g 9T
a disputed territory claimed by Ehé.' a—c\,]- AGI Ch{cl\ g’-l

multiple countries.



What is the main purpose of the ﬁ\*y)ﬁlléd dch Ugol ol HEY 37:'\?\'%?3[
Bartan Bank initiative? §‘ FIT &7

A) To provide financial support tqy Q) ITHTOT '\’:I?fIDEI'ﬂT sl TadrT

rural communities dy Halddl YUcled hiddl

B) To reduce plastic waste through Eﬁ) LEIoT o dddl & 39INT &

the use of %tensils ATETH I TolliEceh hdY ohl ohd
C) To promote digital banking in rural sl
areas C)IrAoT 31 | f3fSeder dfcher

Sl Jerar call

3Y) STl GATYAT Sl HI&TOT
el

D) To conserve water resources



B) To reduce plastic waste through the
use of steel utensils.

The Bartan Bank in Odisha’s Nuapada
district acts as a repository of steel
utensils to replace single-use plastics
during community functions.
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Which country proposed the name 9Tl T W3l & U did alel

'‘Midhili' for the cyclonic storm dTel dehdldl_dbled o [T vy
expected to intensify over the Bay of cer o ! gEdrdd
Bengal? fhaT?

A) India U) ARG

B) Bangladesh %WQT

C) Maldives W

D) Sri Lanka SEIGED



C) Maldives. The name 'Midhili' for

t
t
t

he cyclonic storm expected to affect
he Bay of Bengal was proposed by

ne Maldives.

T AT | ST I @iar &l
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What is the primary aim of the Nayi o-lé ado-ll 2.0 TAITT 1

Chetna — 2.0 campaign? SIBIPED 3?\?%3 FAT g7

A) To promote digital literacy Q) i?ié&_’l HI&AT ol derar

B) To eradicate wo%@gams GaT

women 1) AR & el 84T i
C) To encourage environmental e sl

conservation C)9ITaI0T GI&TUT &l HichITed
D) To boost rural entrepreneurship Gl

1) ATHIOT 3SITAAT I Sgrar
el



B) To eradicate violence against
women.

Nayi Chetna — 2.0 is a gender
campaign launched by the Ministry
of Rural Development in India,
aiming to advance the rights of
women and gender-diverse
individuals.
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Who Inaugurated Global South ISl T3Y HeX AT Tl d

Centre of Excellence? BT 3cHIce Tohdal [haT?
/—/ B -

a) Lee Hsien Loong T) o 8T Gl

b) Anwar lbrahim b) 3TaX SellgH

c) Narendra Modi ) g HISY

d) Li Qiang d) el fhamaT

Question of the day



Class24
App

d OWIl 1 Od —~10 Questions test

d related to this class

//Elass pdf



Th%nﬁq you, se|e ytpl}ill am;.

! 8 labl!l
| %tﬂ ?5 It ml' ”" | |

il

l I

||| |' w l'
|

|

f

|
|l
ﬂ

|




